EARAROBREBRT —5 XN—ZXBISH—F 2021128248 (&) 158XH1H

M SR2% #5 (s | memE - | g w0 s
[AXE%) 1 %:2,90,000F ~ 2#&:1,160,000 §  337%&:725,000H  43#&:435,000 M 5 & :290,000 [
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
Sw_ s KEEZ : -1-1- - EER (KH)
N . BEESE. %2 | £BE 11467 1-1-1-1 | 39.7 2 (410) e
RiN40 B:S5X—=)b N7 7—L4
S =y e 148. -5-5- . - B (KFH)
215! 5 9—Dj'j4—9 4t 2 Es 1216%0 5-5-5-5 | 40.0 4 (457) Cal
RINMVTFSY Biy—FVIYR9— BB
° o o~ JTEOIE : -4-4- - MmN (KH
301101 == VAWE & 2 54.0 1'&8)'9 a4 413 ° (430) IEEIE%%( )
REVFOYVY BRFATv— BaiE
< ~ BEAIRIE : -3-3- - SR (KH)
4 2 SAITA— 4 2 i) 1.6119).1 3-3-3-3 | 41.7 3 (455) jz*ik) g
RinZ—kEa1—X B:RU—-T ARET21—T7—L
» )12 : -2-2- - FLLBSTE  (1hE)
sy 4| T—F SR [ I e " e
R:O—RAFO7 B:53N) #HBET7—L
@ 11— —&BIEfI
10—7+— 3,4,2,1,5
20—F— 3,4,2,1,5
3al=7r= 3,4,2,1,5
43— — 3,4,2,1,5
o ILRE
BB 3 260M JA R 3-5 320/ 5 E 3-5 1,080 3EE 1-3-5 3,520
B B 3 150M9 1-3 830/ =51 3-5 1,450 3EE 51 9,960M
5 200/ 1-5 1,370M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



